420

h=

420

h

wU00050570000000 0 M T s s v

To [ 1 Jfo Fah =0 (bavHa TayH
CnanbHs
149 . \

AAAAAANTRNARRDINNNIN

/|
l
apgepo6 \coE
6 m;
|
|

G005

7/

L 1

4420
—

oo

CaxByson (
4,7

II/\IL
2 350

3 360 2000 \

> o

AT IR

N
RN

420

h=

420

h=

h= 420

S K
A AN

KyxHs-BiTanbHa
24,4

1T

3 640 1910 S

SANDNNNN:

[ H 2480

-
[@)e)H
o

2XL ‘ 76,6 M?

@ = Homep y Mnowa
. HanmeHyBaHHs
NPUMILLLEHHA M2

2930
\
\

5410
. 1 —

=

o — T

:‘:F =R

o —I+

o —T1 |

\

E\

K
i 1.1

Kopwuaop 25

1.2 Kopugop 2,0
{ ]'@ 2 KyxHsi-BiTanbHA 24,4

‘=$

- 3.1 CaHByson 4,8
ol DL 3.2 CaHBy3on 4,7
2,0 =

4.1 CnanbHs 13,3

1=

Cansyson

NN a
f
1600

5.1 Mapoepob 24

5.2 rapaepob 2,6

5.3 JNlopxis (3ackneHa) 5,0
3aranbHa nnowa 76,6 m?
Xutnosa nnowa 28,2

1230 /I

(=]
|
<t
D
7.
7.
/.
7.
/.
7.
/.
L
,//,
.//. 4.2 CnanbHg 14,9
.
7.
/.
/)
7.
/.
/.
7.
/.
7.
7
/)
/.
/.
/.
/.
e
7.
e
/.
7
4
7.
7.
/.
7.
/.
7.
/.
/)
4
/.
7.
e
7.
e
7.
/)
7.
/.
/.
7.
%

(=]
i
7 CnanbHs

§ 13,3

|
<
N
B N TR
3320 e

200000 X X X XX

h= 420




